CHEMISTRY (cco

SYLLABUS : Some Basic Concepts of Chemistry

Max. Marks : 180 Marking Scheme : + 4 for correct & {(—1) for incorrect Time : 60 min.

INSTRUCTIONS : This Daily Practice Problem Sheet contains 45 MCQ's. For each question only one option is correct.
Darken the correct circle/ bubble in the Response Grid provided on each page.

1% Givgl ll.1cmmlbcrs: 161 om, 0.161 cm, 0.9161 cm. Thenwnber 3. Number of grams of oxygen in 32.2 gNa,SO, 10,0 is
of significant figures for the three numbers are @@ 208 ) 224 E

(a) 3,4 and S respectively (b) 3,3 and 4 respectively © N4 ) 208
(c) 3,3 and 3 respectively (d) 3,4 and 4 respectively 4,

2.  Ifthe true value for an experimental result is 6.23 and the
results reported by three students X, Y and Z are :

3 golanoxide ofa metal is converied 1o chloride completely
and it yiclded S g of chloride. The cquivalent weight of the

metal is
X: 6.18and 6.28
5 / (a) 3325 M) 3325
Y: 6. 023
6.20 and 6.02 © 12 @ 2

Z: 622and 624

Which of the following option is correct : & WENNRTFNTP gty

(a) Xprecise, Y accurate, Z precise and accurate. 1.8 22 6.02 23 L
(b) Xpreciseand accurate, Y not precise, Z precise @) 274 x 107 atoms ®) 22400 % 10" melecules
(c) Both X & Z precise & accurate, Y not precise.
(d) Both X &Y neither precise nor accurate, Z both precise (©) 12 ;j <102 clectrons (d)  All of the above

and accuraic.
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6.

9.

10.

11.

12.

Onc of the following combination which illustrates the law
ofreciprocal proportions 7
(@) N,03, N0y, N, O
(c) CS,,C0,,80,

An aqueous solution of oxalic acid dihydrate contains its

6.3g in 250 mL. The volune of 0.1 N NaOH required to
complcicly ncutraliz¢ 10 mL of this solution

(a) 4mL (b) 20mL (c) 2mL

The density of 3Msolution of sodium chloridcis 1.252 g mL !
The molalityof the solution will be :

(molar mass, NaCl =58.5 g mol )
(a) 260m (b) 2.18m (c) 2.79m (d) 3.00m
The number of atoms in 0.1 mole of atriatomic gas is :
(N, =6.02x10% mol~!)
(@) 6.026x 10?2 (b)
(c) 3.600x 10% (d)
Match tbc columns.
Column-I
A, 88g0fCO, L
B 6.022 % 107 molecules II.
of H,0
C 56 litresofO,atSTP III. I mole
D. 96 gofO, N 6.022 > 102 molecules
E | molofanygas A%
(a) A-ILB-IIL,C-I;D-V;E-VI
() A-II;B-I;C-LD-V.E-IV

(b) NaCl, NaBr, Nal

1.806 > 1023
1.800 > 1022

Column-II
0.25molc

2 mole

(¢ A-ILB-LC-III;D-V;E-IV 17.

(d A-I;B-NI;C-I;D-IV;E-V
The simplest formula of a compound containing 50% of
clement X (atomic mass 10) and 50% of clement Y (atomic

mass 20) is 18.

(a) XY (b) XY, (c) X,Y (d)
Which anc of the following is the lightest?
(a) 0.2 molc ofhydrogcen gas

X2Y3

(d) PH,,Py0,,P,0, 13,

(d) 40niL 14.

3Imolc 16.

DPP/ CCO01

(b) 6.023 x 1022molcculcs of nitrogen

(c) 0.1gofsilver

(d) 0.1 molcofoxygen gas

If N, is Avogadro's number then number of valence clectrons
in4.2 g of nitride ions (N*) is

(@) 42N, (b) 24N,

() LGN, (d) 3.2N,

The setof numerical coefficients that balances the equation

K>CrO4 + HCl—3K3Crh 04 + KCI1+ Ho0 8

(@ 2,2,1,2,1 ®) 2,2,1,1,1
) 2,L,1,21 (d) 1,1,2,2,1
Match the cohunns
Column-I Column-II
{Numbher) (Significant figures)
A, 2990 I. 2
B 290 m 1
C 1.23x1.331 1. 4
D. 2000 v 3
E 2783-1 V 5

(a) A-IIIB=I;C-V;D-LE-1IV

) A-V;B-LC-1V;D-II[; E-1I

(c) A-;B-V;C-1V;D-1LILE-1

d A-V,B-1IV;C-1lI;D-1IL E -1

The maximum nunber of molecules are present in

(a) 15LofH,gasatSTP (b) SLofN,gasatSTP

(c) 0.5gofH, gas (d) 10gof0, gas
Thenumber of moles of oxygen in one litre of air containing
21% oxygen by volume, under standard conditions are

(a) 0.0093 molc () 0.2l mol¢

{¢) 2.10molec (d) 0.186molc

Assuming fully dccomposcd, the volume of CO, relcascd at
STP on heating 9.85 g o BaCO, (Atomic mass,Ba= 137) will
be

(@) l.12L
(€) 4.06L

(b) 224L
(d) 08aL

5. @@ 6 @®OO
10.00®OQ@ 11.0®O@
15.0000@ 16.0®OO
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19.

20.

21,

22,

23,

24.

25.

1c3l

Theratio ofthc molaramounts of H,S needed to precipitate

the metal ions from 20 mL each of | M Ca(NO;), and 0.5M

CuSO,is

(a) 1:1 by 2:1 (c) 1:2 (d)

Considcr the following statcments.

(i) AtomsofH, O, Nand C have identical properties but
different mass.

(i) Matter is divisible into atoms which are further

indivisible.

Theratioof N:HinNH; is | : 3andN: O in nitric oxide

is2:1.

Dalton’s atomic theory support law of conscrvation

ol mass.

Which of the following pairs of statements is true according

to Dalton’s atomic thcory ?

(a) (i)and(ii) (b) (ii)and(iii)

(c) (ii)and(iv) (d) (i) and (iv)

How many moles of Al,(SO4); would be in 50 g of the

substance ?

(a) 0.083molc (b) 0.952molc

(©) 0.48l mole (d) 0.140nwle

Expcrimcentally it was found that a metal oxide has formula

M 5¢0. Metal M, present as M?* and M3* in its oxide.

Fraction of the metal which exists as M3+ would be :

(@ 701% () 408% (c) 605% (d) 508%

20.0 g of a magnesium carbonatc sample deccomposcs on

heating to give carbon dioxide and 8.0 g magnesium oxide.

What will be the percentage purity of magnesiuni carbonate

in the sampl¢?

@ 75 ®) 9% ) 60 (d) &4

A sample of AIF; contains 3.0 x 1024 F- ions. The number of

formula unit of this sample are

(@ 9x10% (b) 3x10%¢

(c) 075x%10™ (d) Lox 102

Rcad the following and choosc the incorrect statcments.

() Both wcight and mass arc samc quantitics uscd for
measurcment of amount of matter present in a
substance

(i) Mass and wcight of a substance vary [rom onc place
to another due to changc in gravity.

indelinite

(i)
(iv)

26.

27.

28.

29.

30.

31.

(iii) SIunit of mass is kilogram and whilc SI unit of weight
is gran.

(a) (i)and (iii) (b) (ii)and (iii)

(c) (iand(ii) (d) All ofthese

Number of atoms in 558.5 grams of Fe (at. wt. of Fe= 55.85

gmol!)is

(a) twicethat in 60 g carbon

®) 6.023 x 1022

(c) halfthatin 8 g He

(d) 5585 x 6023 x 102

What is the mass of precipitate formed when 50 mL of

16.9% solution of AgNO; is mixcd with 50 mLof5.8%

NaCl solution ?

(Ag=107.8,N=14,0=16,Na=23,Cl1=35.5)

(a) 288 (b) 358 (o) 7g (d) l4g

Which of the following option represents correct limiting

reagents in reactions (i), (ii) and (iii) respectively.

@ C + 0O - CO,
(26g) (20g)

@ N, A — 2NH,
(60g) (80g)

(i) P, FO 30, - P,0
(100g) (200g)

(@ C, N, 0, (b) C,N,. P,

(©) 0, H, P, (d) 0, N,, P,

A compound made up of two elements A and B is found to
contain 25% A(atamic mass= 12.5)and 75% B (atomic mass
=37.5). The simplest formula ofthe compound is

(a) AB (b) AB, (c) AB, (d AB

On analysis a certain compound was found to contain iodinc
and oxygen in the ratio 0f254 g of iodine (atomic mass | 27)
and 80 g oxygen (at mass = 16). What is the formula of the

compound.
(a) 10 ® LO
(© 1.0, (d) LO,

The ollowing cquation is a completely balanced equation :
3Sn +12HCL+ 4HNO; —— 35nCl, +4NO+8H,0
1nthe above reaction, the number of equivalent per formula
weight of HNO; is

(@) 3 (b) 4 (© 1 (d) 2

RESPoONsg
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Space for Rough Work




Fos | DPP/ CCO01
32. Inacompound C, HandN arc presentin 39. Arrangethe following in the order of increasing mass (alomic
9:1:3.5 by weight. If molecular weight of the compound is mass: O =16, Cu=63, N=14)
108, then the molecular formula of the compound is L  oneatom ol oxygen
@ CoHgN, () CHuN (¢) CeHgN, (d) CoHypN; I onc atom of nitrogen
33. Arrangethenumbers in increasing no. of significant figures. L I x 10-19 mole of oxygen
0.002600,2.6000, 2.6, 0.260 N | % 10%mole of copper
(@) 2.6<0.260<0.002600<2.6000 i
() 2.6000<2.6<0.002600<0.260 @ 1<I<II<IV(b) I<ll<li<lV
(¢) 0.260<2.6<0.002600<2.6000 (© M<II<IV<Kd) 1V<II<II<I
(d) 0.002600<0.260< 2.6<2.6000 40.  When 30 litres of H, and 30 litres of N, arereacted NH; is
34. How many molcs oflcad (II) chloridc will be formed fiom a formed and the yicld is only 50%.The composition of the
reaction between 6.5 g of PbO and3.2 g of HC1? gascous mixture will be
(a) 0044 (b) 0333 (@) SLofN,, SLofH,and5 L ofNH..
(c) 0011 d 0029 () SLofN,, 10L of H,and 10LolNH,,
35.  Equal wcights ofNaCl and KCl arc dissolved scparatcly in (c) 18LofNy, ISL of H,and 5L of NH,.
cqual volumes of solutions. Molarity of the two solutions (d) SLofN,, ISLofH,and 10L of NH,,
will be: 41. How many moles of magnesium phosphate, Mg, (PO,), will
(a) cqual contain 0.25 mole of oxygen aloms?
(b) that of NaCl will be less than that of KCl @@ 1.25x102 (b) 2.5% 102
(c) that of NaCl will be more than that of KCl solution () 002  (d) 3.125x107
(d) (hatofNaCl will be about halfof that of KCl solution ~ 42. 1.12ml ofa gasis produced atS.TP. bythe action of4.12 mg
36. Gaslric juice contains 3.0 g of HCl per litre. If a person of alcohol ROH with methyl magnesium lodide. The
produces 2.5 litre of gasltric juice per day. How many antacid molecular mass of alcohol is
tablcts cach containing 400 mg of AI{OH)3 arc nceded 1o (@) 16.0 b) 412
neutralize all the HCI produced in one day ? (c) 84 (d) 156.0
(a) 18 (b) 14 (c) 20 (d) 17 43. 1l 224 mL ofla triatomic gas has amass of | g at273K and
37. Which of the following is the correct cmpirical and | aumospheric pressure then the mass of one atom is
molccular formulac of a compound, if the molccular mass (a) 830> 1072g (b) 208x10"2g
of a compound is 80 and compound contains 60% of C, c) 553x103¢g (d) 6.24x10"2g
5% of H and 35% of N 7 44. A compound comtains atoms of three elements as A, B and
(@) C,H,N ; C,HyN, () C;H4N, ; CHgNy C. Ifthe oxidation nunber of A is+2, B is +Sandthatof C is
(c) C,HyN, ; C,HgN,  (d) C,H,N; CHyN —2, the possible formula of the compound is
38. A gas mixture of 3 litres of propane (C3Hg) and butane (a) Ay(B,C), (®) AyBCy),
(C,4H;¢) on complete combustion at 25° C produced (d) ABC2 (d) Ay(BC3),
10 litre CO,. Find out the compesition of gas mixture 45,  5moles ofSO, and 5 moles of O, react to form SO Number

(Propanc : Bulanc)
(@ 2:1 ® 1:2
(c) L.5:15 (d 05:25

of moles lefl in 1otal when only 60% SO, is uscd is
(@ 65 b 10
(c) 8 (d) 85

32.0000 33.000Q
37.0000@ 38.0®O®@
£2.0000@ 43.000O00
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